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1 Introduction
11 Objectives

2 EAMe 20144 2st7| Software Engineering(2014SE) =RI0|A T57} J42SH Public

Transportation(PTS)2| System Testing ZItE 1A FA{0|LCt.
1.2 References
PTS-2014-T5-STP-Verl.3
2 System test summary report

2.1  Evaluation

<Table 1 System Test Result>

Test Case Identifier Input specification Output specification Pass/Fail

PTS_STP_000_000 HAE A AHE A 32 5 mzO =8 F
EHOIE A[AH A

PTS_STP_000_001 5709 X|stE EHO|Et 1749] HA | TN A|AH 2 F
ZRERE

PTS_STP_100_000 HOY SIHEA Require CardID Message P

PTS_STP_200_000 Balance= 2000 Cost : 1050 P
TermID[BUS] , &%} Ej Balance : 950

PTS_STP_200_001 Balance= 2000 Cost : 1050 P
TermID[MGN] ,.£X} Ej Balance : 950

PTS_STP_200_002 Balance= 900 Balance : 900 P
TermID[BUS] &%} Ef =K 271 BA|

PTS_STP_200_003 Balance= 900 Balance : 900 P
TermID[MGN] £X} Ef1 =X 271 BA|

PTS_STP_200_004 Balace =1100 Balance : 1100 F
TermID[MGN] , &%} Ef =K E7F BEA|(PHs siofgh

PTS_STP_200_005 TermID[BUS] S}AF Efj 1, Cost : 1050 P
Balance = 1950 Balance : 900
TermID[BUS] £X} Ej1

PTS_STP_201_000 TermID[BUS] , &%} Ef Cost: 0 P
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Balance= 950 Balance : 950
TermID[BUS] ,StA} Ef

PTS_STP_201_001 TermID[MGN] , &%} Ej Cost: 0
Balance= 950 Balance : 950

TermID[MSR] , 8} &} Ef 1

SA 7ts BAl

PTS_STP_201_002

TermID[MGN] ,£X} EjO
Balance= 950
TermID[MHJ] ,3}XF Ef

Cost : 0(200)
Balance : 950(750)

PTS_STP_201_003

TermID[MGN] ,£X} EjO
Balance= 950
TermID[MGN] ,3tXF Ef1

Cost: 0
Balance : 950

PTS_STP_201_004

TermID[MGN] , &%} Ef
Balance = 950
TermID[MDM] ,S}AF Ef O

Cost : 0(200)
Balance 950(750)

PTS_STP_201_005

TermID[MGN] ,£X} EjO
Balance = 950
TermID[MKU] ,3}AF Ef1

Cost : 0(200)
Balance 950(750)

PTS_STP_202_000 TermID[MGN] , &%t Ef Cost: 0
TermID[MSR] S}A} Ef Balance : 950
Balance= 950
TermID[BUS][TransTime<15] &X} Ef
a

PTS_STP_202_001 TermID[MGN] £X} EjO Balance : 350
TermID[MHJ] StXt Ef =X HE BA
Balance=350
TermID[BUS][TransTime<15] &X} Ef
a

PTS_STP_202_002 TermID[MGN] &£X} Ef Cost: 0
TermID[MGN] StX} Ef Balance : 950
Balance=950 St EA|
TermID[BUS][TransTime<15] &X} Ef
a

PTS_STP_202_003 TermID[BUS] &Xt Efj1 Cost: 0
TermID[BUS] &}X} Ej1 Balance : 950
Balance = 950 KT EA|
TermID[MGN][TransTime<15] =Xt
EfO

PTS_STP_203_000 TermID[MGN] &£X} Ef1 Cost: 0
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TermID[MSR] S}X} Ef Balance : 950

TermID[BUS][TransTime<15] =X} E}

i

Balance = 950

TermID[BUS][afterTransTime <30] S} Xt
Ej

PTS_STP_203_001 TermID[MGN] &X} Ef3, Cost: 1 (100)
TermID[MGN] StX} Ef Balance : 949(850)
TermID[BUS][TransTime<15] X} Ef
i

Balance = 950,
TermID[BUS][afterTransTime=30] o}
Xt B2

PTS_STP_203_002 TermID[MGN] £X} EfjO Cost : 4 (400)
TermID[MGN] S}X} Ej Balance : 946(550)
TermID[BUS][TransTime<15] &X} Ef
i

Balance = 950
TermID[BUS][afterTransTime=120] o}
Xt B

PTS_STP_203_003 TermID[BUS] &X} Ef1 Cost : 300
TermID[BUS] StAF Ef Balance : 1650
TermID[MGN][TransTime<30] &%}
Bl

Balance = 1950,

TermID[MSR] S}X} Ef

PTS_STP_203_004 TermID[BUS] £X} Ef1 Cost : 300 (600)
TermID[BUS] StAF Ef Balance : 1650 (1350)
TermID[MGN][TransTime<30] =Xt
Ef

Balance = 1950,

TermID[MHJ] S}X} Ef1

PTS_STP_203_005 TermID[BUS] &X} Ef1 Cost : 300 (600)
TermID[BUS] S}X} Ef Balance : 1650 (1350)
TermID[MGN][TransTime<30] =K}
Bl

Balance = 1950,

TermID[MDM] S}X}F Efj 1

Team4 - NucleaR 5
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PTS_STP_203_006

TermID[BUS] £X} Efi1
TermID[BUS] &}X} Ef1
TermID[MGN][TransTime<30]
Bl

Balance = 1950,
TermID[MKU] StAF Ef 1

Cost : 300 (600)

Balance :

1650 (1350)

PTS_STP_203_007

TermID[BUS] &*t Ej1
TermID[BUS] SFAt Ef 1
TermID[MGN][TransTime<30]
Ef

Balance = 1950,
TermID[MGN] &}X} Ef

Cost : 300(0)

Balance :

1650 (1950)

PTS_STP_204_000

TermID[MSR] GetOn
Balance = 1950

(47| HA 1250908 XAkt

TermID[MGN] GetOn

Total fee

Balance :

1250
700

PTS_STP_204_001

TermID[MSR] GetOn
Balance = 0
TermID[MGN] GetOn

X(&XP7 )

Balance :

0

PTS_STP_204_002

TermID[BUS] GetOn

TermID[BUS] GetOff

TermID[MGN] GetOn
Balance = 1950

(017IM AN 1650S Firet

TermID[MSR] GetOn

Total fee

: 1650 / user Balance : 300

PTS_STP_204_003

TermID[BUS] GetOn
TermID[BUS] GetOff
TermID[MGN] GetOn
Balance = 1950
TermID[BUS] GetOn

Total fee

: 1650 / user Balance : 300

PTS_STP_204_004

TermID[MGN] GetOn
TermID[MGN] GetOff
TermID[BUS] GetOn
Balance = 1950
TermID[MSR] GetOn

Total fee

: 1750 / user Balance : 200

PTS_STP_204_005

TermID[MGN] GetOn
TermID[MGN] GetOff
TermID[BUS] GetOn

Total fee

: 1750 / user Balance : 200

Team4 - NucleaR
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Balance = 1950
TermID[BUS] GetOn

PTS_STP_300_001 32 Ol SA B2 ZD7} CardIDtxt THYUO| HtY /=X | P
20!,
PTS_STP_400_000 HOE AlAH =2 YA A|AE”H A5 =0l F/P
EOj2 A|AEO| SASH=X =0
ADJ_STP_000_000 TermID[BUS] £X} EfO Total income : 1050 P
TermID[BUS] StAF Ef Metro company income : 0
Bus company income: 1050
ADJ_STP_000_001 TermID[MGN] £X} EjO Total income: 1050 P
TermID[MSR] S}X} Ef Metro company income: 1050
Bus company income: 0
ADJ_STP_000_002 TermID[MGN] £X} EjO Total income: 1050(1250) F
TermID[MHJ] StX} Ef Metro company income: 1050 (1250)
Bus company income: 0(0)
ADJ_STP_000_003 TermID[BUS] &Xt Efj1 Total income: 1350(1350) F
TermID[BUS] StAF Ef Metro company income: 753(759)
TermID[MGN]& X}HTranseTime<15] Bus company income: 596(591)
TermID[MSR] S}X} Ef1
ADJ_STP_000_004 TermID[BUS] £X} EjO Total income: 1350(1650) F
TermID[BUS] StAF Ef Metro company income: 753(1008)
TermID[MGN]& X}HTranseTime <15] Bus company income: 596(642)
TermID[MHJ] StXt Ef
ADJ_STP_000_005 TermID[MGN] £X} EjO Total income: 1050(1050) F
TermID[MSR] 3}X} Ef1 Metro company income: 529(525)
TermID[BUS] =Xt Ej / | Bus company income: 520(525)
TranseTime =<15
TermID[BUS] S}At Efj 1
AfterTranseTime < 30
ADJ_STP_000_006 TermID[MGN] £X} EjO Total income: 1051(1150) F
TermID[MSR] S}A} Ef1 Metro company income: 529(549)
TermID[BUS] =K} Ej1 / | Bus company income: 521(601)
TranseTime =<15
TermID[BUS] S}AF Efj 1
AfterTranseTime = 50
ADJ_STP_000_007 TermID[MSR] &£X} Ef1 K HAA| F
At Total income: 1250(1050)
TermID[MGN] £X} EjO Metro company income: 1250(1050)
Team4 - NucleaR 7
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oz
i

Bus company income: 0(0)

FEIR ZLEA

Total income: 3350(1250)

Metro company income: 1250(3350)

Bus company income: 0(0)

ADJ_STP_000_008

TermID[BUS] &*t Ej1
TermID[BUS] S}At Ef 1
TermID[MGN] SXt
TranseTime =<15
TermID[MSR] &£X} Ef
(O] H0f| 6000] HA Fit E[HE)
TermID[MSR] S}X} Ef

Ef1 /

Total income: 2700
Metro company income: 2058

Bus company income: 642

ADJ_STP_000_009

TermID[MGN] =X} Ej
TermID[MSR] 3}X} Ef
TermID[BUS] St
TranseTime =<15
TermID[BUS] Xt Ef(O|F0f 700
Ol HAN FHut E[HE)
TermID[BUS] S}X} Ej 1

B/

Total income: 2800
Metro company income: 656

Bus company income: 2144

ADJ_STP_000_010

TermID[MGN] &£X} Ef
TermID[MSR] S}X} Ef1
TermID[BUS] =Xt
TranseTime =<15
TermID[MHJ] &%t Ef
TermID[MHJ] StA+ Ef

Ef1 /

0]

Total income: 2300(2800)
Metro company income : 0(1076)
Bus company income : 2300(1094)
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